
���� ���	
����
�������	
�����	�����	
����������������������	���
� �!�����
�! 2547 &�	��	���'(��������

�����)��*���+
,� �������	
��

�

��� �
. ������ ������
�!�*��-� 2547

����')��&�	
�
���

���  !"�#

�
��
�$#
�%�&'��� 
�� �&�

�
��
�(&�&�
$
 �
��� 
�
��
�)
&	�
 *& �
 
�
��
���'&� '
�� '
 
�
��
��$��
 	
%
�
 

���.���
(	���
1. ,'-.�)
/, &���
 '
�� 0���
�)1�����#
,�&��
�,$".��$�2$


!
���)3��$����2��&,4���

�

�
0�����,�	$
%)504 �� )5� 2547 ������4�����
&��
�� ����$�� 2��%
$
 ���$

)6&2��&�
� �������)$
!�
�%/�2)
/ 
!

2. ,'-.�)
/, &�$
/2��$

�#
,�&��
� ����$� $

)6&2��&�
 ��� )174
��)�

� $

�$���
�%/���,�����/,$".��$�2$

�#
,�&��
�

3. ,'-.�)
/, &��%�#
,
9��".,$&��:;��
$$

�#
,�&��
� 

��/*'-�����	��
1. $

,%-�$)
/�
$
 )
/�
$
�".0��0�$

)
/, &��
�;��"; �-� ,��
4��
�".�".���
�2 �24 
�

�
$���4�����
&��
���$4�����
��".,$".������04��#
,�&��
�0���
���
� < ,$".��$�2$

�#
,�&�$


!
���
)3��$����2��&,4���

�
 ������4�����
&��
� =:.�,��
4��
�".,4%�
�";�/)6&2��&�
�0�����,�	$
%)504 � �%/
)
/�
����$��0����4�����
&��
��

2. $

,%-�$$%�� ������
� $%�� ������
��".0��0�$

)
/, &��
�;��"; �-� ,��
4��
�".�".���
�2 �24 
�
�
$���4�����
&��
���$4�����
��".,$".������04��#
,�&��
�0���
���
� < ,$".��$�2$

�#
,�&�$


!
���



2

)3��$����2��&,4���

�
������4������
&��
� �#
��� 50 �� �%/)
/�
��0����4�����
&��
� �#
��� 
150 �� =:.���� 
?���&("$

��� �22�2����;� 
� $%�� ������
���;��&;� �#
��� 200 �� 

3. ,�
-.�� -��".0��0�$

)
/, &�
,�
-.�� -��".0��0�$

)
/, &��
�;��"; )
/$�2�����22��2@
  2 *2�2 �%/�22�� A
B!�

�#
��� 1 *2�2
�22��2@
 *2�2�". 1 ,)C��22�&��
 )
/, &��%$

)6&2��&�
����,��
4��
�". �".���
�2

 �24 
�0�$

�#
,�&��
��
 ?�
�$


!
���)3��$����2��&,4���

�
 )
/$�2���� 4 ��� �-�
����". 1 �@
�A
'��.��)��������2
����". 2 �22)
/, &�?�
�$


!
���)3��$����2��&,4����

�
 0�����,�	$
%)504 ��

)
/$�2�)����$

,�
"� ��
 '
�� 0���
�)1����$

�#
,�&��
� $
/2��$

)6&2��&�
� �%/�%�#
,
9�
���$

�#
,�&��
�

����". 3 )174
�%/��)�

����$

�#
,�&��
�
����".4 ���,�����/,'&. ,�& 

�22��2@
 *2�2�". 2 ,)C��22�&��
 ��
 �&�,49��
$)
/�
����.��)0����4�����
&��
��
����". 1 �@
�A
'��.��)��������2
����". 2 �22)
/, &�?�
�$


!
���)3��$����2��&,4���

�
0�����,�	$
%)504 ��

)
/$�2�)���� $
/2��$

)6&2��&�
� �%/�%�#
,
9�0�$

�
����2�&��
 
����". 3 )174
�%/��)�

�0�$

�#
,�&��
�
����". 4 ���,�����/,'&. ,�& 

�22�� A
B!� ,)C�$

�� A
B!�,��
4��
�".�".���
�2 �24 
�0�$

)6&2��&�
�?�
�$



!
���)3��$����2��&,4���

�
 0�����,�	$
%)504 � ������4�����
&��
� )
/$�2���� 2 ��� �-�

����". 1 �@
�A
'��.��)��������2
����". 2 �22�� A
B!� $

,�
"� ��
 '
�� 0���
�)1����$

,�&��
� $
/2��$



�#
,�&��
� �%/�%�#
,
9����$

�#
,�&��
�
4. $

,$92
�2
� ��� �%
���)
/, &�����#
$

,$92
�2
� ��� �%?�� "�&("$

,$92��� �%�%/����,�%
�".,$92��� �%����";

4.1 �
����2��
 ,
"�2
�������22��2@
 �%/�22�� A
B!�
4.2 $#
4��
/�/,�%
0�$

,$92
�2
� ��� �% ���)
/, &�����#
,�&�$

,$92��� �%��;�����

����". 10 $� A
'��(� @:� ����". 20 $� A
'��(� '.	. 2547 ?��0���22��2@
 �%/�22�� A
B!��".�
�
��:;�



3

,'-.�	:$B
��� �%�".,$&��:;��
$$

)6&2��&�
 ���$


!
���)3��$����2��&,4���

�
0�����,�	$
%)504 ��
������4�����
&��
��

4.3 �#
,�&�$

,$92
�2
� ��� �% ���)
/, &�����#
,�&�$

,$92
�2
� ��� �% ?��0���
�22��2@
 �%/�22�� A
B!��".�
�
��:;� �-� �22��2@
 ����". 1 �%/�22�� A
B!� ,$92��� �%
�
$,��
4��
�".�".���
�2 �24 
�0�$

)6&2��&�
� ,$92��� �%��.��)0���
�$

,�
"� ��
 '
�� 0�
��
�)1����$

�#
,�&��
� ��
�$
/2��$

�#
,�&��
� �%/�%�#
,
9����$

�#
,�&��
� �#
��� 50 *2�2
�%/�22��2@
 ����". 2 ,$92
�2
� ��� �%�
$)
/�
����.��)0����4�����
&��
� =:.��/0��,$92��� �%
0���
�$
/2��$

)6&2��&�
� �%/�%�#
,
9�����!/$

 $

�#
,�&��
� �#
��� 150 *2�2 $

,$92

�2
� ��� �%��;��&;� �#
��� 200 *2�2

4.4 �
����2�#
�������22��2@
 �%/�22�� A
B!���
�
2�
 �#
���4
-�� ��
���)
/, &��/�����
����2��
 � 2�
!����,�
-.�� -����� 4
$'2��
���� �� 2�
!�$9�#
,�&�$

,$92
��� �%���
2�
 �#
����%/� 2�
!� 
$�".��� ,'-.�04�$

)
/, &� "��
 ,�".���
��%/ ")
/�&�(&A
'
 
$�&.��:;�

4.5 $

�&,�

/4���� �%
���)
/, &�����#
$

�&,�

/4���� �%�
$�22��2@
 =:.� "����#
@
  
�

����)
/ 
!��


����#
@
 )%
�,)D��%/)%
�)D� =:.��#
$

�&,�

/4�����";
4.5.1 ����#
@
 )%
�)D� ��$,)C� 2 ��� �-�

1) �@
�A
'��.��)��������2  )
/$�2�)���� ,'	 �
�� ?��0����

���%/
0�$

�&,�

/4���� �%

2) $

)
/, &���
�)1����$

�#
,�&��
� ��
�$
/2��$

�#
,�&��
� 
��
��%�#
,
9��%/��
�)174
 ��)�

� ���$

�#
,�&��
� 0�$

�
����2�&��
 ?�
�$


!
���
)3��$����2��&�,4���

�
0�����,�	$
%)504 � ����#
@
  " 5 ���,%-�$ ,���  
$�".���  
$ )
�$%
� ����
�%/�����".��� 0����
,*%".��%/����,2".��,2� 
�
F
�0�$

�&,�

/4���� �%

4.5.2 ����#
@
 )%
�,)D� ��$,)C� 3 ��� �-�
1) ���,�����/,'&. ,�& ���,��
4��
�".�".���
�2 �24 
�0�$

)6&2��&�
�

�&,�

/4���� �%?��$

�&,�

/4�,�-;���
 �%/�
�)0�,�&�2

�
�
2) ���,�����/,'&. ,�&   ������
 �&�,49����)
/�
��0����4�����
&��
��

�&,�

/4���� �%?��$

�&,�

/4�,�-;���
 �%/�
�)0�,�&�2

�
�



4

3) �22�� A
B!� ,��
4��
�".�".���
�2 �24 
�0�$

)6&2��&�
�?�
�$



!
���)3��$����2��&,4���

�
0�����,�	$
%)504 ��������4�����
&��
� 0��$

�&,�

/4���� �% ?��
$

�&,�

/4�,�-;���
 �%/�
�)0�,�&�2

�
�

(���0 
����
����
1. �%$

)
/, &���
�)1����

1.1 �%$

)
/, &���
�)1����$

�#
,�&��
� '2��
?�
�$


!
���)3��$����2��&,4���
�

�
0�A
'
�   "��
 '
�� ��
�)1����$

�#
,�&��
�����0�
/��2 
$ ( X = 3.58 ; SD=0.62) =:.�
��
�,$!O��".��
'�0� , -.�'&�

!
,)C�

���� '2��
  "��
 '
�� ����0�
/��2 
$ 6 

�$

 �-� 2��%
$

 "��
 
����
 ,��
0�0�4��
�".,)C����
��"  "�#
���,'"���'��%/,4 
/�   "���)6&2��&�
��".���,�� 
�%/,4 
/�   "�&.��#
�����
 �/��$0�$

)6&2��&�
��".,4 
/�  $

0����
��2)
/ 
! "
/22 
$

,2&$��
��".
��,
9� ( X = 4.06, 3.60, 3.60, 3.70, 3.76, 3.60 ; SD = 0.89, 1.03, 1.01, 0.93, 0.96, 0.95)
��������". "��
 '
�� ����0�
/��2)
�$%
� ���� ���
�,$!O��".��
'�0�  " 2 

�$

 �-�  "�������)$
!�
,'"��'�0�$

)6&2��&  "�2)
/ 
!,'"��'��%/,4 
/�  ( X = 3.28, 3.04 ; SD = 1.13, 1.08)

1.2 �%$

�
$$

�� A
B!���
�)1����$

�#
,�&��
���� ,��
4��
�".�
�)�������";
1.2.1 2��%
$
2��%
$
����047����� �,��
0�0�2�2
�4��
�".�����,��,��
�".��


�%/�
�$

�&����)
/�
��
�$�24�����
��".,$".������ �:��#
04�� � "��
 '
�� ,��
�".��

1.2.2 $

�
����)6&2��&�
� $

�
�����";�/�#
,*'
/,��
4��
�".,��
��;� ��
04��

)
/�
�� "����
�� 0�$

�
����$

)6&2��&�
����� ,'-.���
 �".�/���
�2��
 
��  -����
�,�9 �".
��;�,��
4��
�".�%/)
/�
��

1.2.3 �2)
/ 
! �2)
/ 
!0�$

0����
�� �,'"��'� �#
04�$

)6&2��&�
�����%
�".� ���
'�0��%/$

�#
,�&��
�� ��%������

1.2.4 ������-��)$
!� ������-��)$
!�2
��&;� "�A
',$�
 �%/0���
����� ��",��
�".��

�%/� �,'"��'� ,��� ,�-;��/������� �%/�S*
� ,)C����

2. �%$

)
/, &���
�$
/2��$

)6&2��&�
� 
2.1 �%$

)
/, &���
�$
/2��$

)6&2��&�
� �
 ��
 ,49����,��
4��
�". '2��
 

$
/2��$

)6&2��&�
��
 ?�
�$


!
���)3���$����2��&,4���

�
�
 ��
 ,49����,��
4��
�".0�
A
'
�  "��
 ,4 
/� ����0�
/��2)
�$%
� ( X = 3.41 ; SD = 0.57) =:.����� ���
�,$!O��".��
'�0�
�%/, -.�'&�

!
,)C�

���� '2��
  "��
 ,4 
/� ����0�
/��2 
$ ��
�,$!O��".��
'�0�  " 2 

�$


�-�  "$

)
�2)
���$���$

�#
,�&��
����������,4��$

!� �%/,��
4��
�".0�� 
�
$

,�� ���04�)
/�
��



5

)6&�2��&�
 $T�

�
������
�,4 
/�  ( X = 3.58, 3.84 ; SD = 0.83, 0.79) ��������". "��
 ,4 
/� 
����0�
/��2)
�$%
� ���� ���
�,$!O��".��
'�0�  " 5 

�$

 �-�  "$

�
�
���
 ,��
0�04��,��
4��
�".,��
0�
0����)6&2��&�
�,)C����
��"  "$

)6&2��&�
 ���$

�#
,�&��
����,)C����
��"  "$

)
/�
�� '��(��
$

�#
,�&��
�04��!/$

 $

�%/)
/�
��,��
0�$

)6&2��&�
�,)C����
��" �%/ "$

�$���)174

�%/��)�

��".,$&��:;������������"� 0���&("$

�$���)174
�����&("�".,4 
/�  ( X = 3.28, 3.12, 3.30,
3.30, 3.48 ; SD = 0.99, 0.94, 0.73, 0.78, 1.01)

2.2 �%$

)
/, &�0���
�$
/2��$

�#
,�&��
���
 ,49����)
/�
�� '2��
 
$
/2��$

)6&2��&�
����?�
�$


!
���)3��$����2��&,4���

�
�
 ��
 ,49����)
/�
��
0�A
'
�   "��
 ,4 
/� ����0�
/��2 
$ ( X = 3.73 ; SD=0.11) =:.���
�,$!O��".��
'�0� �%/
, -.�'&�

!
,)C�

���� '2��
  "��
 ,4 
/� ����0�
/��2 
$ ��
�,$!O��".��
'�0�  "��$

�$


�-�  "$

�
�
���
 ,��
0�04�,��
4��
�".,��
0�0����)6&2��&�
�,)C����
��"  "$

)6&2��&�
 ���$


�#
,�&��
����,)C����
��"  "$

)
/�
�� '��(�$

�#
,�&��
�04��!/$

 $

�%/)
/�
��,��
0�
$

)6&2��&�
�,)C����
��" "$

�$���)174
�%/��)�

��".,$&��:;������������" 0���&("$

�$���)174

�����&("�".,4 
/�   "$

)
�2)
���$���$

�#
,�&��
����������,4��$

!� �%/,��
4��
�".0�� 
�
$


,�� ���04�)
/�
��)6&2��&�
 $T�

�
������
�,4 
/�  ( X = 3.94, 3.73, 3.78, 3.65, 3.68, 3.61,
3.88 ; SD = 0.64, 0.74, 0.85, 0.86, 0.72, 0.82, 0.80)

2.3 �%$

�� A
B!�,���
4��
�".��
�$
/2��$

�#
,�&��
��
�)�������";
2.3.1 $

)6&2��&�
� 0�$

)6&2��&�
� "$

)6&2��&�
��
 ����".�
���� ����

0�$

)
/�
�� '��(��������)
�2)
�� ,'

/,��
4��
�".�%/)
/�
������ �,��
0�4��
�".�
 ?�
�$



!
���)3��$����2��&,4��,��
�".��


2.3.2 )174
�%/��)�

� �
���
 
�� �
$ -���;�A
�
�F�%/,�$�� �%����
���0��
@0��@�� �%/�2)
/ 
!$9� �,'"��'��#
04�$

)6&2��&�
�%�
��


2.3.3 $

�$���)174
�%/��)�

� ,��
4��
�".�/0�� 
�
$

�".,�� ���04��
)
/�
����$��)6&2��&�
 $T�

�
 �%/)
/�
�� '��(�04�)
/�
��,��
0�@:��%���$

)6&2��&�
�&�$T�

�


3. �%$

)
/, &�0���
��%�#
,
9����$

�#
,�&��
�
3.1 �%$

)
/, &�0���
��%�#
,
9����$

�#
,�&��
��
 ��
 ,49����,��
4��
�".

'2��
 ?�
�$


!
���)3��$����2��&,4���

�
�
 ��
 ,49����,��
4��
�".0�A
'
�  "��
 �#
,
9�
����0�
/��2 
$ ( X = 3.89 ; SD = 0.59) =:.�@-���
��
�,$!O��".��
'�0� , -.�'&�

!
,)C�

���� '2��

 "��
 �#
,
9�����0�
/��2 
$ " 4 

�$

 �-�  "$

�&�)3
�)
/�
�� '��(��%/)3
��

�
��.���$��� 



6

�#
04�)
/�
��,49��������%/)6&2��&�
   "$

����2��
@��$
�
�����,'-.�
!
���$

,)D��S0��4 �$
0�@����$�
�
�2, -���#
04�)
/�
���
/4��$0�$

)6&2��&�
 ,'-.���
 )%��A�� �#
04�)
/�
��
)6&2��&�
 $T�

�
 
$�:;� ,��
4��
�". "��
 ':�'�0�0��%�#
,
9����?�
�$


!
���)3��$����2��&,4���
�

�
 ( X = 4.30, 3.88, 4.04, 3.86 ; SD = 0.83, 0.96, 0.88, 0.94) ��������". "
/��2��
 �#
,
9�0�
/��2
)
�$%
� � ���
�,$!O��".��
'�0�  " 1 

�$

 �-� �@&�&$

,$&���2��&,4��%�%� ( X = 3.40 ; SD = 0.85)

3.2 �%$

)
/, &�0���
��%�#
,
9����$

�#
,�&��
��
 ��
 ,49���� )
/�
��
'2��
 ?�
�$


!
���)3���$����2��&,4���

�
�
 ��
 ,49����)
/�
��0�A
'
�   "��
 �#
,
9�
����0�
/��2 
$ ( X = 3.79 ; SD = 0.88) =:.�@-���
��
�,$!O��".��
'�0� , -.�'&�

!
,)C�

���� '2��

 "��
 �#
,
9������0�
/��2 
$ ��
�,$!O��".��
'�0�  "��$

�$

 �-�  "$

�&�)3�
�)
/�
�� '��(��
�%/)3
��

�
��.���$��� �#
04�)
/�
��,49��������%/)6&2��&�
   "$

����2��
@��$
�
������
,'-.�
!
���$

,)D��S0��4 �$0�@����$�
�
�2, -���#
04�)
/�
���
/4��$0�$

)6&2��&�
 
,'-.���
 )%��A�� �#
04�)
/�
��)6&2��&�
 $T�

�
 
$�:;� �#
04��@&�&$

,$&���2��&�,4��%�%� 
)
/�
�� "��
 ':�'�0�0��%�#
,
9����?�
�$


!
���)3��$����2��&,4�� ( X = 3.76, 3.73, 3.87,
3.80, 3.83 ; SD = 0.89, 0.96, 0.86, 0.85, 0.87)

3.3 �%$

�� A
B!�,��
4��
�".��
��%�#
,
9����$

�#
,�&��
��
�)���� ����";
3.3.1 �%�#
,
9��
 ,)3
4 
� �
 ?�
�$


!
���)3��$����2��&,4���

�
��� " 

$

�&�)3
��

�
 �%/)3
�)
/�
�� '��(��".)
/�����,$�,49������
���.���$��� �%/,��
4��
�".���,)C�
�$��#
0�$

����2��
@ �,��
��=��
!
���$

,)D��S0��4 �$,'-.�04�)
/�
��)6&2��&�
 ,'-.�
��
 )%��A��

3.3.2 �%�#
,
9���".,$&��:;����)
/�
�� )
/�
��)6&2��&�
 $T�

�
 
$�:;��%/
,��
4��
�".�%/)
/�
�� "��
 ':�'�0�0��%�#
,
9����$

)6&2��&�
��
 ?�
�$


!
���)3��$��
��2��&,4���

�
0�����,�	$
%)504 � )5 2547 ������4�����
&��
� 

4. �%$

	:$B

/��2)174
�%/��)�

����$

�#
,�&��
�
4.1 �%$

	:$B

/��2)174
�%/��)�

����$

�#
,�&��
��
 ��
 ,49����

,��
4��
�". '2��
 ?�
�$


!
���)3��$����2��&,4���

�
�
 ��
 ,49����,��
4��
�".0�A
'
�  "�
)174
0�
/��2)
�$%
� ( X = 3.04 ; SD = 0.65) =:.�@-���
���� ���
�,$!O��".��
'�0� , -.�'&�

!

,)C�

���� '2��
  "
/��2)174
)
�$%
� � ���
�,$!O��".��
'�0�  "��$

�$

 �-� ,��
4��
�".� �,��
0�
0�2�2
�4��
�".�����,��,��
�".��
  "�#
���� �,'"��'�  "���)6&2��&�
�� ����,��  "�������)$
!�
� �,'"��'�  "�&.��#
�����
 �/��$� �,'"��'�  "
/22$

,2&$��
��2)
/ 
!�".%�
��
 ���2
&4


/��2



7

4��4��
4�����
� �%/
/��2���4���,�
0�0������ �%/)
/�
��04���
 
��  -����� ( X = 3.24, 3.02,
3.08, 3.04, 2.92, 3.04, 2.74, 3.26 ; SD = 0.87, 1.02, 1.04, 0.88, 0.92, 1.02, 0.88, 0.89) 

4.2 �%$

	:$B

/��2)1�74
�%/��)�

����$

�#
,�&��
��
 ��
 ,49����)
/�
��
'2��
 ?�
�$


!
���)3��$����2��&,4���

�
 ")174
�%/��)�

�0�A
'
�  ����0�
/��2)
�$%
�
( X = 3.30 ; SD = 0.78) =:.�@-���
���� ���
�,$!O��".��
'�0�, -.�'&�

!
,)C�

���� '2��
  "
/��2
)174
)
�$%
� ���� ���
�,$!O��".��
'�0� " 8 

�$

 �-� ,��
4��
�".� �,��
0�0�2�2
�4��
�".���
��,��,��
�".  "�#
���� �,'"��'�  "���)6&2��&�
�� ����,��  "�������)$
!�� �,'"��'�  "�&.��#
���
��
 �/��$� �,'"��'�  "
/22$

,2&$��
��2)
/ 
!�".%�
��
���2
&4


/��24��4��
4������
�
/��2
���4���,�
0�0������ �%/)
/�
��04���
 
��  -����� ( X = 3.46, 3.33, 3.25, 3.27, 3.35, 3.30, 3.27,
3.21 ; SD = 0.83, 0.77, 0.79, 0.80, 0.83, 0.84, 0.89, 0.86)


